23

ooooogoooodn



¢y

)

®3)

(4)

®)

23

10

645

541

1,375

1,186



23 10 2

163 151 314 363

105 95 200 215

79 42 121 154

176 148 324 362

122 105 227 281

645 541 1,186 1,375
22 1,971 23 70

600

500

400

300

200

ANININANEAN

100

— _/

—~

1,017

1,017
1,375 73.9
547
39.8 674
49.0




2

w

B

[
O

350
300

250

200

150

100

) 355 1,299 94

®

oDBe a0

‘}‘}‘}
5
H22 |59 ].:: 32.

H23 |-5.8 37
I I I

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

1 9 5.8 10 19 29.6 20 29 27.6 30
37 65 20



€y

1 O
[
- [ [
H20 96.0 [40
- | | | | | | | | | 2.3
H21 97.7 R
F | | | | | | | | | 2.7
H22 97.3 R
- | | | | | | | | | 78
H23 97.4 L
0% 10% 20% 30% 40% 50 60% 70% 80% 90% 100%
21
@)
10
m O m H 27,434
30,460
18,179
B 9,914
[T (M1 85,987
H22 32.7 35.7 20.7
L I
[T [T 10
H23 338 35.1 20.6 23,781
LU L
| | | 24,732
14,487
0% 20% 40% 60% 80% 100% 7,401
70,401
23 35.1 33.8 20.6
10.5
22
22 43.6 / 23 51.2 /
1




“)

®3)

H21

H22

RS

92.4

LI 67

H23

93.1

7.6

0% 10%

20% 30%

40%

50%

6.9

I
60%

21

(6.9 )
8%

e

e

o
e
i
2

£
7
et
¥
i
e
ekt

T
&5
52

i

T
o

£
52

6.7

70% 80% 90%

22:2 -7 - (3 22:3 (3 ) S)

100%

=

T
i
£
o
2o
£
i
£
£

&5

5%
Hi
R

o
&5
5%

52
£

T
T
i
i
i
i
i
i
i
i
it
155

2

i
i
8

26%

b
i

st
SRy

o

o5
f
et
et
b

e
£

b

o

&5
52
2

o
e

gt

o

S

Ry

i
i
i

&5
£
52
£
£

=
7
i
et
i
:
et
i
o

¥
¥
o
e
Fek

A
£

2 o
e
=
"‘+
+
e
e
e
S
s
s
e
+"‘+ &

5

2
£
i
£
£
£
ek
i

£
)
ek
5t

£
i
£
5%
£
i
4?
£
52
£
R
LA

et

2
s

I
g

i

i
i
s
R R e
¥
o

&

£
S

i
i

&
!
e
R

66%

18%

15%

i
i
i

2

G

£

£

£

£

52
*###qf###a

b
A

67%

66

22

23

67



@

] O
m
o T I 48
H20 952 LI
r [ [ | | | | | | | 21
H21 979 ]
g | | | | 1 | | | | 8
H22 97.2 i
o | | | | | | | |
H23 974 |||| 26
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
21
@
| m @]
I |
TTTIT
H22 04.8 52
i
TTTTIT
H23 94.6 54
ML
[ [
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
2
22 5.2 23 5.4
€)) 2
23 22
(5.4 ) (-2 )
" o
\ 4 —
174 174
. 8 . &
A¥ &+
AT 34% 37%
m o [m] / e
]
20% 18%
\
o o
20% 28%
2 5.4
34
29
PR
22 37 28



H20

H21

H22

H23

H20

H21

H22

H23

H20

H21

H22

H23

g
13
3

ERE
NN
S

EREREREIEY ERE
ENENEIE NN < ENE
ERERERE ) R EIEE

-
ENE
-

-

et \\\\\\\@\Q\\\\\\
T T S

EES

-

5 29.0 74.9 RRRRRRT R T .
9 51.6 782 B R vy

S
9 52.4 79.1 AR IRRRRE Vi

0%

10% 20% 30% 40% 50% 60%

70%

80%

90% 100%

o7
B3

B 3

7

BN
ERENE RN
LN

e <

e BN < <
ERES & EREREREIEY -
LN A NN N N NN NI

EREREEY

}:\\\\\\\\\\\\'B‘i\}@\\\\\\\\\\\\\

NN

9 36.2 62.1 [onnnnnnagpgu s n L RS B
! ' ! ' ! ' N N
9 38.4 672 [l il e el e L R B
- | | | | | | ! | |
9 39.9 69.8 IRRRRRE T2 IRRRRR e
:

0%

10% 20% 30% 40% 50%

60%

70%

80%

90%

a7
£33
M3

7

><><><><><><><><><><><3><b><><><><><><><><>< <><>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\21:
e P Rt

o
e

269 P RN \\\\\\\\\\\\\\\\\\\\\\\\\\\2‘:0\\. B,

. T ign" T T T T A S,
I I I I I

LI, BARRRARERRR \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\Zt R,

26.8 LR 2:8}9 T T T T T T P S S UL L

9.6 | I I

<
-
<

R
i

A B R A N ha

NI NN N < NN N I NN
ERENE RN B DD BN
NN N S NN ] NN I NN I N
1

0%

10% 20% 30% 40% 50%

60%

70%

80%

90% 100%

100%



H20

H21

H22

H23

H21

H22

H23

H22

H23

0%

0%

| | | ‘ ‘
a7
L O3 7
‘ ‘ 03
62.0 28.0 10.0
r | | | | | |
82.6 15.2 P 4
r | | | | | |
76.4 20.7 2.9
r | | | | | |
79 18.3
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
8
| | | | | l l l l
9 a9 7
87 3 O3
i | | | | | [ [ [ [
416 234 16.7 18.3
r I I I I I I I I I
56.7 284 109 4
r I I I I I I I I I
58.2 25.6 12.3 39
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
9 7 8
| | | |
a9 a9 7
a7 3 =k
445 27.2 193 9.1
449 28.2 18 8.9
1 1 1 1 1 1 1 1 1
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
22 9 9 7



H21

74.3

t\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

o AR

H22

72.1

\\\\\\\\\\\\\\\27\\9\\\\\\\\\\\\\\\\\\\\
S T

St

H23

77.8

\\\\\\\\\\\:2&\2\\\\\\\\\\\\\\\
P ey

0%

10%

20% 30% 40%

50%

60%

70%

80% 90% 100%

H22

91.5

[\ *5\\\\\\
AN,

H23

924

\7\ S
ey

0%

10%

20% 30% 40%

50%

60%

70%

78

80% 90% 100%

09

B7 5

B9 7

B85

H22

54.9

///////////////27’/
EE TP 7y

CE PP \\\\\1& g
O o

S

H23

58.7

E/////////////%2//////////////////1\\\\\l:g\ \\\\@
PPN NP o PP RT NN RPN (SRR AR,
1

S

0%

10%

20% 30% 40%

50%

84.9

60%

70%

80% 90% 100%



09

@7 5

o9 7

B85

H22

e

S

H23

459 e B 4 S LURRRRRN 98
o O A W W )
45.7 SO QU P 7SS ST, \\\\\\\\\ia ERRERURS Qr
. B Y R > SRR URRIRN .0

0%

20%

40%

60%

PR

80%

100%

H22

94.7

B30

H23

97.1

“¢]
4

0%

97

10%

20%

30%

40%

50%

- 10 -

60%

70% 80%

90%

100%



NO.

No













